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EU
1
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A B C
D 4
2 RIA
A 520.8 0 -520.8 -52.1
B 5207.5 0 -5207.5 -520.8
C 676 520.8 -155.2 -15.5
D 632.5 520.8 -111.7 -11.2
3.5% 2002 10
10
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- B
10
C 676
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9 The costs are high and justification can only be sought on a precautionary basis. However, the
results do indicate that options A and B should not be considered. They relate to (A doing
nothing (with no costs to industry, but continuing health costs to society and (B repealing
current legislation which is assumed to increase those heath costs met by society generally- the
calculations have assumed a five fold increase in these costs. Options C and D both yield lower
negative economic values; Option D provides the least negative overall economic value principally
by allowing the silage agent industry more time to adjust, and is the recommended choice.
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10 Final Rule Declaring Dietary Supplements Containing Ephedrine Alkaloids Adulterated
Because They Present an Unreasonable Risk; Final Rule 2 11 ,2004 (Vol. 69, No. 28

pp. 6787-6854
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12 FULL RIA: THE PROCESSED CEREAL-BASED FOODS AND BABY FOODS FOR INFANTS AND
YOUNG CHILDREN(ENGLAND REGULATIONS2004
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14 Costs to consumers

A proportion of any cost increases which manufacturers may face as a result of the regulations
may be passed on to the consumer in the form of higher prices however, this represents a transfer
cost and is therefore not considered in the appraisal. ( RIAPp.9
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